Subject: Re: Subset of a structure?
Posted by troydporterl3 on Mon, 20 Jan 2014 23:35:51 GMT

View Forum Message <> Reply to Message

Hi guys,
Thanks for your help, | appreciate it.

help, (PM25_TOTAL.reports_GOOD).time_JS_GOOD[good_val_pm25]
<Expression> DOUBLE = Array[719, 144, 5]

This seems to have multiplied the original array by all the good data points so | have 719 versions
of it. What | wanted it to do was remove the bad data ponit. So instead of 720 points | should have
719 to now plot. This didn't do that.

Troy
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